Correct

SNo Question Optionl Option2 Option3 Option4 Option
Text Completion: __ of protesters joined Option1=
the agitation and did not heed the repeated Hoards, -
s by i pelfEs me o the Hordes, breach [Hordes, breech |Hoards, breach breech Hordes,

' breach
barricades.
Text Completion: Demaocracy is better
e e I RN el affected, effected, realized, OppiEne=
2|through the crowding of main squares, whichisa |. . . . effected,
image, but a misleading ineffective moving powerful fleeting powerful
representation of the “people’s will”
Text Completion: The problems may be difficult, h : .
. ang in up : Option4=
3|but all you have to do is as long as there hang on there |hang on to that [hang in there hang in there
you can.
reduce the reduces the reduces the reduces the [Option3=

Sentence Correction: During flight, the
combination of low air pressure and humidity in
aircraft cabins reduce the sensitivity of our taste
buds for salt and sweet by upto 30%.

sensitivity of
our taste buds
to salt and
sweet by upto

sensitivity of
our taste buds
for salt and
sweet by upto

sensitivity of
our taste buds
to salt and
sweet by up to

sensitivity of
our taste

buds for salt
and sweet by

reduces the
sensitivity of
our taste
buds to salt
and sweet by

30%. 30%. 30%. up to 30%. |[up to 30%.
Option4= As
Being an As you are an [Being that you As you are you are an
Sentence Correction: Being an industry i i i an industry |
. : industry industry are an industry industry
expert, | was hoping if there were some tips expert, | was
. expert, | was |expert, | was |expert, | was . expert, | was
5|you can give me on how to succeed as an . . . hoping that .
hoping that hoping if you [hoping if you hoping that
entrepreneur. . ) . you could
you could give [could give me |could give me ive me you could
me some tips [Ssome tips some tips g : give me
some tips

some tips




His

Option3=

Mahatma Mahatma
The emperor .. ... |classmates .
Gandhi's critic . |Gandhi's
One of the statements below contains a word used |[ordered the There are very warned him, | . .
) : : . i ...~ _|of the West e critic of the
6lincorrectly. Choose the option which has the arrest of his few film critics . Itisnota West
incorrect or inappropriate usage of the word. most vocal left in our city. remains . |good idea to es )
- relevant to this |7 .. remains
critic. critique our
day. . .. |relevant to
Principal.”, .
this day.
In questions given below out of four
alternatives, choose the one which can be Ontiond=C
7|substituted for the given word/sentence. Egoist Fatalist Stoic Cynic niI(J: y
One who has little faith in human sincerity and
goodness.
In questions given below out of four
alternatives, choose the one which can be Ootion2=
8|substituted for the given word/sentence. Expert Intellectual Snob Literate Inrtjellectual

A person of good understanding knowledge
and reasoning power.




Sentence Rearrangement: A. Hate speech is
characterized by a deliberate targeting of
communities rather than beliefs.

B. What the management must seek to do is to
not let political discussions and debates to
descend into vituperative attacks and hate

speech. Option4=
9
BACD ACDB DBCA DCAB DCAB
C. But such an association will be spurious, as
questioning orthodoxy and conservatism is not
tantamount to hate speech.
D. The student body's activism has been
criticized by detractors and it has been sought
to be associated with hate speech.
. . Option3=
i . Whoever is Whomever is i .
Sentencce Correction: Whoever is chosen as Whoever is No Whoever is
P : chosen as the |chosen as the :
10|the new chief, it is likely to continue many of : : chosen as the |[correction  [chosen as
.. . new chief, they|new chief, he o i
the policies that the incumbent holds dear. are i new chief is required the new
chief is
A boatman goes 2 km against the current of the )
stream in 1 hour and goes 1 km along the current . . . |Option3=1
11 in 10 minutes. How long will it take to go 5 km in 40 minutes 1 hour 1 hr 15 min 1 hr 30 min hr 15 min

stationary water?




Two trains A and B are 100 m and 150 m long and
are moving at one another at 54 Km/hr and 36

12|Km/hr respectively. Arun is sitting on coach B1 of [10 s 6s 4s 8s Option2=6 s
train A. Calculate the time taken by Arun to
completely cross Train B.
Distance between the office and the home of Alok
is 100 Km. One day, he was late by an hour than
the normal time to leave for the office, so he Option1=25
13 increased his speed by 5 Km/hr and reached 25 Km/hr 20 Km/hr 16 Km/hr 50 Km/hr Km/hr
office at the normal time. What is the changed
speed of Alok?
A car of length 4m wants to overtake a trailer truck Option3=
14|of length 20m travelling at 36km/hr within 10 12 m/s 14.8 m/s 12.4 m/s 7.6 m/s
seconds. At what speed should the car travel? 12.4 m/s
Arjun travels from A to B, a distance of 200 Km at
the speed of 40 Km/hr. At the same time, Rakesh Optiond= 4
15|starts from point B at a speed of 20 Km/hr along a |1.5 hr 3.33 hr 5hr 4 hr
road which is perpendicular to AB. Find the time in hr
which Arjun & Rakesh will be closer to each other?
o o o i _— Option4d=
16| constitutional government by definition in India is Government by|Popular Multi party Limited Limited
a legislature government  [government government
Government
e ol . Option3=
Among the following Tiger Reserves,which one Naaariun r Nadariun
17|has the largest area under “Critical Tiger Habitat” [Corbett Ranthambore a-lga_Ju asaga Sunderbans agarjunasa
" Srisailam gar-
Srisailam
Which of the following is not included in th t Money at Option2
ich of the following is not included in the assets . ption2=
18| . commercial bank in India? Advances Deposits Investments call and Deposie

short notice




Consider the following statements regarding
“Innate immunity” in human beings.

19|1. It is present at the time of birth. 1 only 2 only Both 1 and 2 2Ne|ther L e Opltlonlz 1
2. It is disease specific due to its memory of onty
disease attack and response.

Which of the above statements is/are correct?
Which of the following countries border India?
1. Myanmar( Option3=

20 > Turkmenistan 1,34 2,3,4 1,4 only 1 14
3. Uzbekistan
4. Afghanistan
E is the son of C. D is the husband of C. B and G )
is the only brother and daughter of D respectively. None of the |Option3=

21 F is the maternal aunt of E and G.How is B related Aunt Nephew Uncle above Uncle
to E?

Find the missing series: 7, 26, 63, 124, 215, Option2=

22 342, 7 481 511 421 391 511

: . : Option3=
23|Find the missing series: NOM, QRP, TUS, ? WAX HUT WXV HTU WXV
If * means /, - means *, / means + and + means -, . _
24lthen (3-15/19) * 8 + 3 = 5 4 2 -1 Option1=5
Find the odd word from the given alternatives in a Option2=
25 phenomenon happening in nature. Red Brown Green Yellow Brown
Procurement on |Procurement
Procurement on |Procurement on GeM for value  lon GeM for
26|GeMAR&PTS is required for GeM without CPPP / out side . 2
o above Rs. 25 bunching
bidding GeM .
Lakh requirement
27|EMD submission is exempted for a period up to 31/03/2021 31/12/2021 31/03/2022 31/12/2022|2




Who is the competant authority to give exemtion to|Director of the S(_ac_retary SIS el o) Secretary,

28 Ministry Secretary of Cabinet
float gobal tenders up to the value of Rs.200 Crore [Centre .

concerned Commerce Secreatriate

As per latest Public Procurement (Preference to

29|Make in India) what is the margin of Purchase 10% 15% 20% 25%
Preference for Local Vendors

oot e oo c® R upors  lupors upok

1,00,000/- 1,50,000/- 2,00,000/- 2,50,000/-

procurement?
Presently which EXIM Policy formulated by DGFT

31|is applicale for import and exports of Government |2015-2020 2016-2021 2017-2022 2018-2023

of India?

Which one of the statements mentioned in the

up to 30% to

upto 40% to

Relaxation for

Relaxation for
% of advance

32 options is not correct as per GFR 2017? Private Forms |Govt Agencies subr_mssmn_of may be
BG is permitted )
considered
How many days should Performance Security
33|beyond contractual obligation be valid as per GFR |30 days 45 days 60 days 90 days
20177
Vendor can
Late bids Two bid System |submit bid
received after Two stage (Technical and ([second time
With regard to Bidding process one of the bidding is not L :
34 . due date and , Finacial Cover [with
statements is not correct : permitted as per ) L
time can not be system) is modification
. GFR .
considered permitted before due
date
Adopted for the [Number of should be Unsolicited
One of the statements is not correct with reference |estimated value [suppliers should . bids should
35 L published on
to Limited tender of only upto be more than CPPP not be
Rs.25Lakh three accepted
- . waterinthe g ijified Solidified Solidified
36|Dryice is a chemical form of form of solid . o
nitrogen Carbon dioxide [hydrogen

State




If a there is no change in the quoted Price of a
Vendor for ExXWorks, FOB/ FCA, CPT and CIF/

37 CIP which Incoterm will be used in Purchase 2GS REAIROL ULzl CPT
Order?
a8 One of the parameters indicated is not part of the weighing measuring testing counting
process of Physical Verification Stores
One of the parameters mentioned is not used in
39|the process of disposal of goods as per GFR Obsolete unserviceable [surplus Junk
provisions
Just in time (JIT) system reduces inventory in Kanban
40(excess of current production and R&D needs Safety stock FIFO inventory [Waste
o } system
through elimination of:
Procurement of [Physical Inventory Identifying
41|ABC Analysis is a method of: Goods and Verification of
: Management Vendors
Services Assets
Which Authority should give permissionfor
42|importing chemicals like Morphin, cocaine etc for|ICMR DGFT CBN DGCA
research purpose?
What is the percentage of penalty for delay of six
43 months beyond due date in supply, installation and 13 12 11 10

Commisioning of an equipment under the
condition of Liguidated damges?

What is full form of NPS in which Government

New Pension

New Pension

National Pension

National

a4 employee contributes towards pension Scheme Scheme Scheme Z;)Qtsel ;)nn
A woman Government employee having minor
children below the age of eighteen years and who

45]has no earned leave at her credit, may be granted |730 days 700 days 630 days 600 days
child care leave, for a maximum period during
entire service:
What is the maximum limit for Government Officer

46(for availing leave encashment during LTC in the |30 days 40 days 50 days 60 days

entire service?




Vendor should

47 In a bid if there is a discrepency between words be given Bid should be  |Amount in words IA:\ieruer: n
and figures of the price quoted: opportunity to  [rejected should prevail g .
should prevail
correct
How many times a Govt employee can change Can not
48|his/her Home Town in the entire service for the one time Two times three times
change at all
purpose of LTC
49|SKU is the Acronym for: Stqre keeping Stqck keeping |[selected key System kind
Unit unit usage usage
50 Under integrated material Management system Material Inventory Purchasin Stores
determing EOQ is related to: Planning Control 9 Management




